Name Answer Key

Date

Multiply Numbers in

»p» Find each product. Write your a

(2.6 x10%) (3x10%) = 7.8 x108

(1.8x10%)(1.95x10%) = 3.51x10"

(9.3x10%)(47x108) = 4.371x10°

(82x10%)(6.8x107M) = _ 5576x10"°

(2.64x102)(15x1078) = 3.96x107"°

Scientific Notation #2

nswer in scientific notation.v'

(2x10%) (4.2x10°) = 8.4 x10"

P>

(7.3%10%) (11x 108) = 8.03x10"

B>

(5x107%)(3.61x107) = 1.805 x 10°

6.3x10%)(915x10'0) = __ 5.7645x10"

—

1079)(5.7x107%) = 2.508 x10™"

~~

4.4

X

© ThuVienTiengAnh.Com



